INTEGRATION & DIFFERENTIATION

Integration as the inverse of differentiation
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	nsinn-1xcosx
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	ln|sec(ax+b)| / a
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	(don’t forget to + c to all indefinite integration) 


TRIGONOMETRIC RATIOS


secx = 1 / cosx
cosecx = 1 / sinx
cot = 1 / tanx



sin(A±B) = sinAcosB ± cosAsinB
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cos(A±B) = cosAcosB   sinAsinB



tan(A±B) = 
 tanA ± tanB
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sin2A + cos2A = 1

sec2 = 1 + tan2A

cosec2A = 1 + cot2A


sin2A = 2sinAcosA

cos2A = cos2A – sin2A
tan2A =   2tanA   








= 2cos2 – 1


  1 – tan2A






= 1 – 2sin2A


sin2A = ½(1 – cos2A)
cos2A =  ½(1 + cos2A)

Product 
→
Sum Formula
Sum Product →
Formula
2sinAcosB 
≡ sin(A+B) + sin(A–B)
sinP±sinQ 
≡ 2sin½(P±Q) cos½(P[image: image2.bmp]Q)
2cosAsinB 
≡ sin(A+B) - sin(A–B)
cosP+cosQ
≡ 2cos½(P+Q) cos½(P-Q)
2cosAcosB 
≡ sin(A+B) + cos(A–B)
cosP-cosQ 
≡ 2sin½(P+Q) sin½(P-Q)
-2sinAsinB 
≡ sin(A+B) - cos(A–B)
acosθ + bsinθ ≡ Rcos(θ + ά)
